
No. of Printed Pages : 13 BECC–108 

B. A. (HONS.) ECONOMICS (BAECH) 

Term-End Examination 

December, 2024 

BECC-108 : INTERMEDIATE  

MICRO ECONOMICS—II 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from each Section as per 

the given instructions. 

Section—A 

Note : Answer any two questions from this Section.  

Each question carries 20 marks. 2×20=40 

1. (a) Differentiate between second degree and 

third degree price discrimination. 5 

(b) Suppose an amusement park has two 

buyers with demand functions : 

1 124q p= −  and 2 224 2q p= −   
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The monopolist faces marginal cost equal 

to 6. The firm follows a two-part tariff 

regime. 

(i) What will be fixed one time fee 

provided by Oi’s solution ? 10 

(ii) What will be the monopolist profit ? 5 

2. (a) Explain with the help of a diagram how a 

perfectly competitive firm maximises profit 

in the short run. 10 

(b) Compare the welfare loss of a monopolistic 

competition with that resulting in case of a 

monopoly. 10 

3. In a Cournot duopoly model, firms 1 and 2 

produce output Q1 and Q2 respectively.  

Let market demand be P = 100 – Q  

(where Q = Q1 + Q2). Total cost be 40Q. 

(a) Derive the reaction curves of firm 1 

and firm 2. 8 
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(b) Calculate the Cournot-Nash equilibrium 

quantity produced by each firm. 6 

(c) What are the equilibrium price and total 

profit of the industry ? 6 

4. (a) Differentiate between positive and 

negative externality. How does externality 

lead to market failure ? 12 

(b) Discuss the different ways of correcting the 

market failure resulting in the presence of 

negative externality. 8 

Section—B 

Note : Answer any four questions from this 

Section. Each question carries 12 marks. 

4×12=48 

5. What is meant by principal-agent problem ? 

What leads to principal-agent problem ? How 

can that be corrected ? 12 

6. (a) Differentiate between zero sum game and 
non-zero sum game. 3 
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(b) The payoff matrix and strategies (X, Y) of 

two players 1 and 2 are given below : 

          Player 2 

  X Y 

Player 1 
X 2, 1 1, 2 

Y 1, 2 2, 1 

Write the game in extensive form. Also find 

the Nash equilibrium of the game. 9 

7. Why is contract curve also called efficiency 

production set ? Explain with the help of a 

diagram.   12 

8. The demand function for a monopoly firm is 

P 100 2Q= − , the marginal cost is given as ` 20. 

Calculate the deadweight loss associated with 

monopoly firm. 12 

9. What are isowelfare curves ? Explain how does 

a society maximise its social welfare. 12 
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10. The equilibrium output of a monopolistic 
competitive firm is 25 units. The total cost of 
production is as given below : 

TC = 0.25q2 – 10q + 400 

where q is the output of the firm. 

(a) What is the efficient level of output of the 
firm ?  6 

(b) Do you think firm is producing at efficient 
level ? Justify. 3 

(c) What do you understand by the term 

‘Excess Capacity’ ? Calculate excess 
capacity. 3 

Section—C 

Note : Answer all questions from this Section. Each 
question carries 6 marks. 2×6=12 

11. Write short notes on any two of the following :  

3 each 

(a) Value judgements 

(b) Sources of monopoly power 

(c) Bertrand Paradox 

B–1504/BECC–108  P. T. O. 



 [ 6 ] BECC–108 

12. Differentiate between any two of the following : 

3 each 

(a) Simultaneous move and Sequential move 
games 

(b) Monopoly and Perfect competition 

(c) Signalling and Screening 
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      BECC–108 

dyk Lukrd (vkWulZ) vFkZ'kkL=k   

(ch- ,- bZ- lh- ,p-) 

l=kkar ijh{kk  

fnlEcj] 2024 

ch-bZ-lh-lh--108 % eè;orhZ O;f"V vFkZ'kkL=k&II 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx esa ls iz'uksa ds mÙkj fn;s x;s 

funsZ'kkuqlkj nhft,A  

Hkkx&d 

uk sV % bl Hkkx esa ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 20 vadksa dk gSA 2×20=40 

1- (d) f}rh; dksfV ds dher foHksn vkSj r`rh; dksfV ds 

dher foHksn esa vUrj Li"V dhft,A 5 
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([k) eku yhft, fd ,d euksjatu ikdZ ds nks Øsrk 

ek¡x iQyuksa % 

 1 124q p= −  vkSj 2 224 2q p= −   

ds lkFk gSaA 

,dkf/dkjh lhekar ykxr ¾ 6 dk lkeuk dj 

jgk gSA iQeZ f}&Hkkxh iz'kqYd O;oLFkk dk 

vuqlj.k djrh gSA 

(i) Oi ds gy }kjk iznku fd;k tkus okyk 

fu/kZfjr ,dckjxh 'kqYd D;k gksxk \ 10 

(ii) ,dkf/dkjh dk ykHk D;k gksxk \ 5 

2- (d) ,d fp=k dh lgk;rk ls le>kb, fd ,d iw.kZ 

izfr;ksxh iQeZ vYidky esa viuk ykHk vf/dre 

dSls djrh gSA 10 

([k) ,d ,dkf/dkjh izfr;ksfxrk dh {kse gkfu dh 

rqyuk ,dkf/dkj dh fLFkfr esa gksus okys ifj.kke 

ls dhft,A 10 
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3- ,d dwuksZ };kf/dkj ekWMy esa] iQeZ 1 vkSj 2 Øe'k% 

1Q  vkSj 2Q  mRikn dk mRiknu dj jgh gaSA ekuk 

cktkj ek¡x P = 100 – Q gS] (tgk¡ Q = Q1 + Q2 gS)A 

dqy ykxr 40Q gSA 

(d) iQeZ 1 rFkk iQeZ 2 ds izfrfØ;k oØksa dh 

O;qRifÙk dhft,A 8 

([k) izR;sd iQeZ }kjk mRikfnr dwuksZ&uS'k lUrqyu ek=kk 

dh x.kuk dhft,A 6 

(x) lUrqyu dher vkSj m|ksx ds dqy ykHk D;k gSa \ 

6 

4- (d) ldkjkRed vkSj udkjkRed ckárkvksa ds chp 

vUrj Li"V dhft,A ckárk,¡ fdl izdkj cktkj 

foiQyrk dh vksj ys tkrh gSa \ 12 
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([k) udkjkRed ckárk dh mifLFkfr ds ifj.kkeLo:i 

cktkj dh foiQyrk dks Bhd djus ds fofHkUu 

rjhdksa dh ppkZ dhft,A 8 

Hkkx&[k 

uk sV % bl Hkkx esa ls fdUgha p kj iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 12 vadksa dk gSA 4×12=48 

5- Lokeh&vfHkdrkZ leL;k ls D;k vfHkizk; gS \ 

Lokeh&vfHkdrkZ leL;k dk D;k dkj.k gS \ bls dSls 

Bhd fd;k tk ldrk gS \ 12 

6- (d) 'kwU; ;ksx |wr vkSj v'kwU; ;ksx |wr esa vUrj 

Li"V dhft,A 3 
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([k) nks f[kykM+h 1 vkSj 2 ds izfrizkfIr vkO;wg vkSj 

;qfDr;k¡ (X,Y) uhps nh gqbZ gSa % 

       f[kykM+h 2 

  X Y 

f[kykM+h 1 
X 2, 1 1, 2 

Y 1, 2 2, 1 

|wr dks foLr`r Lo:i esa fyf[k,A |wr dk uS'k 

lUrqyu Hkh Kkr dhft,A 9 

7- vuqca/ oØ dks n{krk mRiknu leqPp; Hkh D;ksa dgk 

tkrk gS \ ,d js[kkfp=k dh lgk;rk ls le>kb,A 12 

8- ,d ,dkf/dkjh iQeZ dk ek¡x oØ P 100 2Q= −  gSA 

lhekar ykxr ` 20 nh gqbZ gSA ,dkf/dkjh iQeZ ls 

layXu fo'kq¼ gkfu dh x.kuk dhft,A 12 

9- le&{kse oØ D;k gS \ le>kb, fd fdl izdkj ,d 

lekt lkekftd {kse vf/dre djrk gSA 12 
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10- ,d ,dkf/dkjh izfr;ksxh iQeZ dk lUrqyu mRikn  

25 bdkb;k¡ gSA mRiknu dh dqy ykxr uhps nh xbZ  

gS % 

q q= − +2TC 0.25 10 400  

tgk¡ q  iQeZ dk mRikn gSA 

(d) iQeZ dk mRikn dk n{k Lrj D;k gS \ 6 

([k) D;k vki lksprs gaS] iQeZ n{k Lrj ij mRiknu dj 

jgh gS \ vkSfpR; fl¼ dhft,A 3 

(x) ̂ {kerk vkf/D;* ls vki D;k le>rs gSa \ {kerk 

vkf/D; dh x.kuk dhft,A 3 

Hkkx&x 

uk sV % bl Hkkx ds lHkh iz'uksa ds mÙkj nhft,A izR;sd 

iz'u 6 vadksa dk gSA 2×6=12 

11- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   izR;sd 3 

(d)  ewY; fu.kZ;u 
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([k)  ,dkf/dkj 'kfDr ds lzksr 

(x) cVªs ±M dk fojks/kHkkl

12- fuEufyf[kr esa ls fdUgha nks ds chp vUrj Li"V

dhft, %   izR;sd 3

(d) lg pky rFkk vuqØfed pky [ksy

([k)  ,dkf/dkj vkSj iw.kZ izfr;ksfxrk 

(x) ladsru vkSj Nkuchu

× × × × × × × 
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